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Profit per year = 0.10 (100.000 tons/yr X 2.000 lb/ton X $0.08/lb)

= $1,600,000/yr

Assume the working capital 5 25% of the fixed capital

Yo o i

From Fig. 2: Yield=0.78 , S.C.=1atmand ®C , Mse; =80 Ib/lbmol ,

Volumetric rate of SO at operation condition = 100000[(600 + 273)/(273)] = 320000 cuft/min

Density of SO; = PM/RT = (14.7 1b/ir?)(801b/1bmol )/(10.731b/in*ft3/Ibmol R))(873 x 1.8 R) = 0.07 Ib/f
Mass rate of SOs at operation condition = (320000cuft/min)(0.07 Ib/ft) = 716800 Ib/min = (716800/80) =

89601bmol/min

Required S = (8960 x 32)/(0.78) = 367590 1b/min = (367590)(2200) = 167 ton/min
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From Fig2: D=3in. ,  Volumetric rate = (10.5 Ib/s)(60 s/min)/(62.4 Ib/fy = 10 ft}*/min

Re = (380)(62.4)(10)/(3)(1.13) = 70000
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From fig. 15-18 : Purchased cost = 40$/f2 = 40000$
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Amonnt to be depreciated = 36,000,000
Straight-line depreciation rate = 1/6 or 16 234,
Double declining balance rate = 2 x 16 23 = 33 1/3%
19 vear depreciation x $6,000.000 = /3 = $2,000,000
Book value of asset after first vear = $6,000,000 - $2,000,000 = 54,000,000
27 vear depreciation = $4,000,000 x 1/3 = $1,333,000
Book value of asset after second vear = $4,000,000 - $1,333,000 = §2,667,000
3rd year depreciation = $2667.000 x 1/3 = $889.000
Book value after third year = S2667.000 - 5889 000 = $1,778,000
4t vear depreciation = $1.778.000 « /3 = $593.000

Minimum selling price = book value at end of 4" year = 1,778,000 — 593,000 = 1,185,000%
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